Name: Section:

T 1L . ey -1
february 2, 2010

The exam is all partial credit. Please write neatly and clearly, showing all of vour work. No calculators,

cell phones, books, or notes may be nsed. The test contains 100 possible points. Good huck!
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1. {15 points) Compute the following:
a (1] —2%) 4+ 5(—1 -+ 2k)

b (3,~1,0)e/2.3.7
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2. (7 points) A gun on the ground is fired at a speed of 1000 fi/sec at an angle of 309 ahove the ground.

Find the horizontal and vertical components of she initial velocity.
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4. {8 points) Find the area of the triangle with verticss (1.0, 0. (0.2,0), and (0,0.3).
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4. {10 points) Below are parameterized equatious for the two lines £y and Ls which intersect ar the origin
{(0.0,0). Fmd the angle between the lines at the point of intersection.
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5. {10 points; Find the distance between the point (3,6,0) and the plane 22 — 21
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won for the Prams perpendiciiar to the line parameterized by

~1+ £} and containing the peint (2,3, —11.
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7. {13 points) Write & parameterization for the line formed by the intersection of the following two planes:

—dy+r=2 Zr+ty-Izr=5
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£, {20 points) Match the following graphs and equations:
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9. (T points} Draw & graph of the equation 2% — y + 2% = (.

!X & 1- :5 ks = é

G : ., f /’,« el e el 2O

v - e : .
, - e ::w\) .>( e Y P (j
:j Lang it Aol Q“:fﬂ & .

% J
CF ek ” £
ST

o

ot

o
]

. :H'"TMNMMMMW;/" /F

// |
1
b

i H
I o




